

СВЕТЛОЙ ПАМЯТИ
МИХАИЛА
КОНСТАНТИНОВИЧА
ПОЛИВАНОВА

посвящается

АЛГЕБРАИЧЕСКАЯ КВАНТОВАЯ ТЕОРИЯ



$$\hat{H} = \hat{\vec{\alpha}}\vec{p} + \hat{\beta}(m_1 + m_2\hat{\gamma}_5)$$

$$\hat{\beta} = \hat{\gamma}_0$$

$$\hat{\vec{\alpha}} = \hat{\beta}\hat{\vec{\gamma}}$$

$$m^2 = m_1^2 - m_2^2$$

Кадышевский $p_0^2 - \vec{p}^2 + p_5^2 = M^2, m \leq M$

Бендер PT

Родионов $\square - m^2 = (i\gamma^\mu \partial_\mu - (m_1 + m_2 \gamma_5)) \cdot$
 $\cdot (i\gamma^\nu \partial_\nu + (m_1 - m_2 \gamma_5))$

□

$$\hat{H} = \hat{\vec{\alpha}}\vec{p} + \hat{\beta}(m_1 + m_2\hat{\gamma}_5)$$

$$\hat{\beta} = \hat{\gamma}_0 \quad \hat{\vec{\alpha}} = \hat{\beta}\hat{\vec{\gamma}}$$

$$m^2 = m_1^2 - m_2^2$$

$$\hat{H} = \hat{\vec{\alpha}}\vec{p} + \hat{\beta}me^{-\gamma_5\alpha}$$

$$ch\alpha = \frac{m_1}{m} \quad sh\alpha = \frac{m_1}{m}$$

$$\hat{H}_0 = \eta \hat{H} \eta^{-1} \quad \eta = e^{\alpha\gamma_5/2}$$

$$\eta_0 \hat{H} \eta_0^{-1} = \hat{H}^+ \quad \eta_0 = e^{\alpha\gamma_5}$$

$$\square \langle \psi | C \dots | \psi \rangle$$

$$\square C = \eta_0^{-1} P; \quad C = e^{-\alpha \gamma_5} \gamma_0$$

$$\square \bar{\psi} \hat{C} \psi = \psi^\dagger \gamma_0 \hat{C} \psi = \psi^\dagger \gamma_0 e^{-\alpha \gamma_5} \gamma_0 \psi =$$

$$\square \quad ch \alpha = \frac{m_1}{m}; \quad sh \alpha = \frac{m_2}{m}$$

$$\square = \psi^\dagger \gamma_0 \gamma_0 e^{\alpha \gamma_5} \psi = \psi^\dagger e^{\alpha \gamma_5} \psi =$$

$$\square = \psi^\dagger (ch \alpha + \gamma_5 sh \alpha) \psi =$$

$$\square = \psi^\dagger \left(\frac{m_1}{m} + \gamma_5 \frac{m_2}{m} \right) \psi$$



$$D_M = i\gamma^\mu \partial_\mu - (m_1 + m_2 \gamma_5)$$
$$\left(i\gamma^\mu \partial_\mu - (m_1 + m_2 \gamma_5) \right) \Psi(x) = 0$$

$$\psi(x) = \psi^+(x) + \psi^-(x)$$

$$\left(\hat{k} + (m_1 + m_2 \gamma_5) \right) \psi^+(\vec{k}) = 0$$

$$\left(\hat{k} - (m_1 + m_2 \gamma_5) \right) \psi^-(\vec{k}) = 0$$

$$\psi^+ = \begin{pmatrix} \psi_1 \\ \psi_1 \\ \psi_2 \\ \psi_2 \end{pmatrix}, \quad \psi^- = \begin{pmatrix} \psi_2 \\ \psi_2 \\ \psi_1 \\ \psi_1 \end{pmatrix},$$

$$\boxed{\Psi_\alpha^\pm(\vec{k}) = \sum_{\nu=1,2} a_\nu^\pm(\vec{k}) w_\alpha^{\nu,\pm}(\vec{k})}$$

$$\boxed{\vec{k}=0:}$$

$$\boxed{w_\alpha^{1,-}(\vec{0}) = \begin{pmatrix} 1 \\ 0 \\ \frac{m_2}{m+m_1} \\ 0 \end{pmatrix}; \quad w_\alpha^{2,-}(\vec{0}) = \begin{pmatrix} 0 \\ 1 \\ 0 \\ \frac{m_2}{m+m_1} \end{pmatrix};}$$

$$\boxed{w_\alpha^{1,+}(\vec{0}) = \begin{pmatrix} \frac{m_2}{m+m_1} \\ 0 \\ 1 \\ 0 \end{pmatrix}; \quad w_\alpha^{2,+}(\vec{0}) = \begin{pmatrix} 0 \\ \frac{m_2}{m+m_1} \\ 0 \\ 1 \end{pmatrix}.}$$



$$\square \quad 1). \left(w^{\nu, \pm}(\vec{k}) \right)^* = w^{* \nu, \mp}(\vec{k})$$

$$\square \quad 2). w^{* \nu, \pm}(\vec{k}) w^{\mu, \mp}(\vec{k}) =$$

$$\square \quad = \sum_{\alpha=1, \dots, 4} w_{\alpha}^{* \nu, \pm}(\vec{k}) w_{\alpha}^{\mu, \mp} = \delta^{\nu \mu}$$

$$\square \quad 3). w^{\mu, +}(\vec{k}) \bar{w}^{\mu, -}(\vec{k}) = \frac{\hat{k} - (m_1 - m_2 \gamma_5)}{2k^0}$$

$$\square \quad w^{\mu, -}(\vec{k}) \bar{w}^{\mu, +}(\vec{k}) = \frac{\hat{k} + (m_1 - m_2 \gamma_5)}{2k^0}$$



$$\begin{aligned} \square \quad & [\Psi_\alpha(x), \bar{\Psi}_\beta(y)]_+ = \frac{1}{i} S_{\alpha\beta}^{(M)}(x-y) = \\ \square \quad & = \left(i\gamma^\mu \partial_\mu + (m_1 - m_2 \gamma_5) \right)_{\alpha\beta} \frac{1}{i} D(x-y) \end{aligned}$$



$$\square \quad \psi(x)\bar{\psi}(y) = : \psi(x)\bar{\psi}(y) : + \underline{\psi(x)\bar{\psi}(y)}$$

$$\underline{\psi(x)\bar{\psi}(y)} = \frac{1}{i} S_M^-(x-y)$$

$$\underline{\bar{\psi}(x)\psi(y)} = \frac{1}{i} S_M^+(y-x)$$



$$T \psi(x) \bar{\psi}(y) = : \psi(x) \bar{\psi}(y) : + \overline{\psi(x) \bar{\psi}(y)};$$

$$\begin{aligned} \overline{\psi(x) \bar{\psi}(y)} &= \frac{1}{i} \left(i \gamma^\mu \partial_\mu + (m_1 - m_2 \gamma_5) \right) D^C(x - y) = \\ &= \langle T \psi(x) \bar{\psi}(y) \rangle_0 \end{aligned}$$



$$m \quad ? \quad m_1, m_2$$
$$\leftrightarrow$$

$$m, \quad ? \quad \leftrightarrow \quad m_1, m_2$$

$$(m^2 + m_2^2) / 2 \geq \sqrt{m^2 m_2^2}$$

$$m \leq \frac{m_1^2}{2m_2} \equiv m_{max}$$

$$m_{max} = M$$

$$m, \quad m_{max}=M \quad \leftrightarrow \quad m_1, m_2$$

$$m^2 = m_1^2 - m_2^2$$

$$m_{max} = \frac{m_1^2}{2m_2}$$

$$m_1^{\mp} = \sqrt{2} m_{max} \sqrt{1 \mp \sqrt{1 - m^2 / m_{max}^2}}$$

$$m_2^{\mp} = m_{max} \left(1 \mp \sqrt{1 - m^2 / m_{max}^2} \right)$$



